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But now let the slain victim save the murderer — %% 3177 INYR KON

OVERVIEW

According to *0v ', who maintains that even if the 299 or 9105 did not warn the
(alleged) murderer, nevertheless 902 1M17Y; therefore &95 "1 asked »2X, according
to 01 " the murderer can never be convicted, for the victim will save the murderer
from the death penalty. mp0I1n explains how the 21777 can save the murderer.
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The explanation why 7°%°> 21777 is because he is a litigant; or you may also say,

because the 11777 is an enemy to the 3717 and an enemy is unfit to testify.
[M>°82 *'191 R 77" .72 namas 'ean o]

SUMMARY
The 2777 is 7°¥12 9109 either because he is a 7"v2, or because he is a X1W.

THINKING IT OVER
What are the relative advantages of both explanations of mM»oI1n?

"' We can view the 3017 and the 31777 as a claimant (the 31777) and defendant (the 37) in this case. The 31177 demands
that the 27177 be killed. Since the 21777 saw the killing he can be considered as a witness; however he is an invalid
witness since he is a litigant (a litigant cannot testify [since he is considered as a relative to himself (see "7 >"w9
3)]). Therefore according to o1 " than any 2105 79 who saw the murder, invalidates the entire M7y, the 217 is an
9105 7v and should invalidate the entire m7v; saving the murderer from the death penalty.

% There is a dispute (between the 2151 and 7717 ) in 2,12 17710 whether an enemy (one who did not talk to him
for three days, w"¥) can testify. However in this case where the 21777 is a mortal enemy of the 3717, even the 0°non
may agree that such a X1 cannot testify (see 37 "0 "w17n n2wn awa 790 ann). [See following ¥271:3"7 'oin.]

? There Mmoo explains that the 3117 cannot testify since he is a 1970 (and a 7970 is MTY> 00 because it is an M7y
aRPT? 9120 DR ORY).
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